
p 
= 

0.
27

1

p 
= 

0.
80

2

p 
= 

0.
20

1

p 
= 

0.
43

6

p 
= 

0.
89

5

p 
= 

0.
70

2

p 
= 

0.
55

4

p 
= 

0.
71

6

p 
= 

0.
05

87

p 
= 

0.
09

39

p 
= 

0.
48

9

p 
= 

0.
90

8

p 
= 

0.
55

4

p 
= 

0.
26

9

p 
= 

0.
65

3

p 
= 

0.
60

4

p 
= 

0.
10

9

p 
= 

0.
43

9

p 
= 

0.
11

8

p 
= 

0.
47

8

p 
= 

0.
68

6

p 
= 

0.
52

7

0.00

0.25

0.50

0.75

1.00

B ce
ll m

em
ory

B ce
ll n

aiv
e

B ce
ll p

las
ma

Eos
ino

ph
il

Mac
rop

ha
ge

 M
0

Mac
rop

ha
ge

 M
1

Mac
rop

ha
ge

 M
2

Mas
t c

ell
 ac

tiv
ate

d

Mas
t c

ell
 re

sti
ng

Mon
oc

yte

Mye
loi

d d
en

dri
tic

 ce
ll a

cti
va

ted

Mye
loi

d d
en

dri
tic

 ce
ll r

es
tin

g

NK ce
ll a

cti
va

ted

NK ce
ll r

es
tin

g

Neu
tro

ph
il

T ce
ll C

D4 m
em

ory
 ac

tiv
ate

d

T ce
ll C

D4 m
em

ory
 re

sti
ng

T ce
ll C

D4 n
aiv

e

T ce
ll C

D8

T ce
ll f

oll
icu

lar
 he

lpe
r

T ce
ll g

am
ma d

elt
a

T ce
ll r

eg
ula

tor
y T

reg
s

C
el

l f
ra

ct
io

n

Fusion (n=1) Non−fusion (n=242)

Immune cell infiltration comparison between fusion and nonfusion group


